Math Club Worksheet #2 Quadratic Problems: 1. Find all possible values of a/b if $a^2 + 4b^2 = 4ab$ a2+462=4ab a2- 4ab + 462 =0 $(a - 2b)^2 = 0$ a-26=0 a=2b 2. Let $f(x) = a^2x^2 + 5ax + 3$ and f(2) = 2. Find all possible values of the constant "a" $f(z) = a^{2}(4) + 5(a)(z) + 3 = 2$ $4a^{2} + 10a + 1 = 0$ a=4 b=10 c=1 $\alpha = -10 \pm \sqrt{100 - 4(4)}$ $= -\underbrace{1 \circ \pm \sqrt{24}}_{g}$ 3. Find the value of "x" if "x" is positive and x-1 is the reciprocal of $x + \frac{1}{2}$ $\bigcirc \alpha(\frac{1}{\alpha}) = 1$ 2 -3 (x-1)(x+2)=1 (2x-3)(x+1)=0 $x^{-}-2x-2=1$ $[x=\frac{3}{2}]x+1$ 2x - x - 3 = 0 4. Let "f" be a function for which $f(x/3) = x^2 + x + 1$. Find the sum of all the values of "z" for which f(3z) = 7 [amc12] O Note: $f(\frac{2}{3}) = [3(\frac{2}{3})]^{2} + [3(\frac{2}{3})] + ($ $f(n) = (3n^2 + (3n) + 1)$ $= 9n^{2} + 3n + 1$ f(32) = 9(32) + 3(32) + 1= 8122 + 92+1

5. Let "a" and "b" be the roots of the equation
$$x^{2} - mx + 2 = 0$$
. Suppose that $a + \frac{1}{b}$ and $b + \frac{1}{a}$ are the roots of the equation $x^{2} - px + q = 0$. What is the value of "q"?
(a) $\sqrt{-} - mx + 2 = (x - a)(x - b)$
(a) $\sqrt{-} - mx + 2 = (x - a)(x - b)$
(a) $\sqrt{-} - px + q = (x - a - \frac{1}{b})(x - b - \frac{1}{a})$
(b) $\sqrt{-} - px + q = (x - a - \frac{1}{b})(x - b - \frac{1}{a})$
(c) $\sqrt{-} - px + q = (x - a - \frac{1}{b})(x - b - \frac{1}{a})$
(c) $\sqrt{-} - px + q = (x - a - \frac{1}{b})(x - b - \frac{1}{a})$
(c) $\sqrt{-} - px + q = (x - a - \frac{1}{b})(x - b - \frac{1}{a})$
(c) $\sqrt{-} - px + q = (x - a - \frac{1}{b})(x - b - \frac{1}{a})$
(c) $\sqrt{-} - px + q = (x - a - \frac{1}{b})(x - b - \frac{1}{a})$
(c) $\sqrt{-} - px + q = (x - a - \frac{1}{b})(x - b - \frac{1}{a})$
(c) $\sqrt{-} - px + q = (x - a - \frac{1}{b})(x - b - \frac{1}{a})$
(c) $\sqrt{-} - px + q = (x - a - \frac{1}{b})(x - b - \frac{1}{a})$
(c) $\sqrt{-} - px + q = (x - a - \frac{1}{b})(x - b - \frac{1}{a})$
(c) $\sqrt{-} - px + q = (x - a - \frac{1}{b})(x - b - \frac{1}{a})$
(c) $\sqrt{-} - px + q = (x - a - \frac{1}{b})(x - b - \frac{1}{a})$
(c) $\sqrt{-} - px + q = -1$
(c) $\sqrt{-} - px + q - \frac{1}{a}$
(c) $\sqrt{-} - px + 2 = -1$
(c) $\sqrt{-} - qx + 2 = -1$
(c

8. Find the roots of
$$x^2 + (a - \frac{1}{a})x^{-1} = 0$$
 in terms of "a"

$$(x + a)(x - \frac{1}{a}) = 0$$

$$x = -a - x = +\frac{1}{a}.$$
9. Find the solutions to $(x^{i} - 11x^{i} + 24x^{2}) - (4x^{2} - 44x + 96) = 0$

$$(x^{2} - (x^{2} - 11(x + 24)) - 4(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2} - 4)(x^{2} - 1(x + 24)) = 0$$

$$(x^{2}$$

11. Find constants "a" and "b" such that
$$b - a$$
 is as small a possible, and the entire graph of the equation

$$y = \frac{1 - x^{2}}{1 + x^{2}}$$
Ites within $a < y \le b$
(b) to subscription Anymorphic (1+x²)

$$y = -(\frac{x^{2} + 1}{1 + x^{2}}) = -(1 - \frac{2}{x^{2} + 1})$$

$$y = -1 + \frac{2}{x^{2} + 1}$$

$$x = -1 + \frac{2}{x^{2} + 1}$$

$$y = -1 + \frac{2}{x^{2} + 1}$$